
MCS 252 MTI Questions

1) Use the transformation x = 'U + ~, y = 'U to evaluate the integral
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2) Write the integral

!n2!n"h-(X-l)2 X + y
--::----,--::-dydx

o 0 X2 + y2

using polar coordinates. (DO OT EVALUATE THE INTEGRAL) ..
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3) Let

{
u(x, y) = X3 - xy + 2

T=
v(x, y) = y _ 3~2

be given.
a) Show that T : ]R2 -t ]R2 is locally invertible for y =I- o.. oy ox
b) Compute ou and ov'
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4) Let

5x - 4y + Z3 - 3u + V2 = a
-2; + y2 + Z + U2 + V2 - 2w - 8= a
x + Z2 + w - U2 + 3 = a

be given. . _ (2 a a a 1 -1).a) Discuss the solvability for u, v, w in terms of x, y, z near Po - "",

b) Find au and ~v at Po· ~D L -\k ~\\C\{ax uy ) -a- \
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